Sequences

A sequence is a function f: IN -- PR

We usually write an hor fCn1 and think of the list of all values {a.] as the sequere. $E_{x:a_n} = 1/n^2$ 1, 1)4, 1(a, 1/1ce, 1/25, ... Fibracci · Fn=Fn-1+Fn-2 Fi, F2=1 1,1,2,3,5,8,13,~-Sequerel Dince sequences de functions, we can do all the usual operations: add/ment/dwide, taile hout, etc. Goal: do ducrete Calculu,



IBP a Sumation by parts

but beyond what we're going to talk about.

 $(-1)^{n}$ No analogue! $n! = n \cdot (n - 1) \cdot \dots \cdot 1 \quad \infty \qquad T(x) (Hv H)$

 $dn(n) < c n < c b^n < c n! < c n^n$ app b > 1

Analyzing Sequence of (-1) asually regimes the Squeeze them. Note: if an = f(n) comes from a cts huchin on IR, can shill use L'Hopital to compute limits, e.g. lin Norright noto en Useful limit to Know: for any R,

$$l_{1m} = 0,$$

 $n \to n! = 0,$

$$E_{X:} = a_n = \frac{(-1)^n + 2^n}{n!} \quad \text{what is lim } a_n^2$$

$$Sep into postney parts:
$$\lim_{n \to \infty} \frac{n + 2^n}{n!} \leq a_n \leq \frac{n + 2^n}{n!} \qquad \lim_{n \to \infty} \frac{n + 2^n}{n!} = l_{in} \frac{1}{n!} + \frac{2^n}{n!} = l_{in} \frac{1}{n!} + \frac{2$$$$

$$\underbrace{E_{X:}}_{a_{1}} = Z$$

$$a_{n+1} = \frac{1}{2} (a_{n} + l_{e}) \quad \text{for } N = l_{1} Z_{1} \dots$$

Fact: fand is bounded above by 6. Informally, if an ≤ 6 then and $= \frac{1}{2}(antle) \leq \frac{1}{2}(6t6) = 6$ So since $a_1 \leq 6$ all terms are (but need induction to formally show this).

Note
$$a_n \leq a_{n+1} \neq a_n \leq \frac{1}{2}(a_n + 6) \iff \frac{1}{2}a_n \leq 3 \iff a_n \leq 6$$

So Sail being bounded is equivalent to it being mono. inc. here
by them, him $a_n = 1$ exists. The recursive def says

$$L = \frac{1}{2}(L+L_{e}) \quad \text{so} \quad L = C \quad \text{and} \quad \lim_{n \to \infty} a_{n} = C,$$

$$\lim_{n \to \infty} u_{e} = 0 \quad \text{and} \quad \lim_{n \to \infty} u_{e} = 0 \quad \text{and} \quad \lim_{n \to \infty} u_{e} = 0,$$

$$\lim_{n \to \infty} u_{e} = 0 \quad \text{and} \quad \lim_{n \to \infty} u_{e} = 0,$$

$$\lim_{n \to \infty} u_{e} = 0, \quad \lim_{n \to \infty} u_{e} = 0,$$

$$\lim_{n \to \infty} u_{e} = 0, \quad \lim_{n \to \infty} u_{e} = 0,$$

$$\lim_{n \to \infty} u_{e} = 0, \quad \lim_{n \to \infty} u_{e} = 0,$$

$$\lim_{n \to \infty} u_{e} = 0, \quad \lim_{n \to \infty} u_{e} = 0,$$

$$\lim_{n \to \infty} u_{e} = 0, \quad \lim_{n \to \infty} u_{e} = 0,$$

$$\lim_{n \to \infty} u_{e} = 0, \quad \lim_{n \to \infty} u_{e} = 0,$$

$$\lim_{n \to \infty} u_{e} = 0, \quad \lim_{n \to \infty} u_{e} = 0,$$

$$\lim_{n \to \infty} u_{e} = 0, \quad \lim_{n \to \infty} u_{e} = 0, \quad \lim_{n \to \infty} u_{e} = 0,$$

$$\lim_{n \to \infty} u_{e} = 0, \quad \lim_{n \to \infty} u_{e} =$$